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Reading and Writing

27 QUESTIONS

DIRECTIONS

The questions in this section address a number of important reading and writing skills. Each question
includes one or more passages, which may include a table or graph. Read each passage and question
carefully, and then choose the best answer to the question based on the passage(s).

All questions in this section are multiple-choice with four answer choices. Each question has a single

best answer.

- Critics have asserted that fine art and fashion rarely

in a world where artists create timeless
works for exhibition and designers periodically .
produce new styles for the public to buy. Luisefio/
Shoshone-Bannock beadwork artist and designer
Jamie Okuma challenges this view: her work can be
seen in the Metropolitan Museum of Art and
purchased through her online boutique.

Which choice completes the text with the most
logical and precise word or phrase?

A) prevail
B) succumb
C) diverge
D) intersect
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Barring major archaeological discoveries, we are

unlikely to ever have account of ancient
Egypt under the female pharaoh Hatshepsut, as
much of the evidence of her reign was deliberately
destroyed by her successors.

Which choice completes the text with the most
logical and precise word or phrase?

A) an imaginative
B) a superficial
C) an exhaustive
D) a questionable

horized copying or reuse of any part of this page is illegal.

The work of Kiowa painter T.C. Cannon derives its
power in part from the tension among his

influences: classic European portraiture, with its
realistic treatment of faces; the American pop art
movement, with its vivid colors; and flatstyle, the
intertribal painting style that rejects the effect of depth
typically achieved through shading and perspective.

Which choice completes the text with the most
logical and precise word or phrase?

A) complementary
B) unknown
C) disparate
D) interchangeable



Proposals to raise the age at which retirees begin
receiving government transfers of funds are
generally discussed in terms of the effects on
transfer recipients, but Andria Smythe has argued
that delaying such transfers could

wealth creation among working adults by
lengthening the period in which they are providing
financial support to their nonworking parents. .

Which choice completes the text with the most
logical and precise word or phrase?

A) stymiie ‘

B) compound

)] disparage

D) outstrip

Unauthorized copying or reuse of any part of this page is illegal.
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The following text is adapted from Aphra Behn’s
1689 novel The Lucky Mistake. Atlante and Rinaldo
are neighbors who have been secretly exchanging-
letters through Charlot, Atlantes sister.

[Atlante] gave this letter to Charlot; who
immediately ran into the balcony with it, where
she still found Rinaldo in a melancholy posture,
leaning his head on his hand: She showed him
the letter, but was afraid to toss it to him, for
fear it might fall to the ground; so he ran and
fetched a long cane, which he cleft at one end,
and held it while she put the letter into the cleft,
and stayed not to hear what he said to it. But
never was man so transported with joy, as he
was at the reading of this letter; it gives him new
wounds; for to the generous, nothing obliges
love so much as love.

Which choice best describes the overall structure of
the text?

A) It describes the delivery of a letter, and then
portrays a character’s happiness at reading
that letter.

B) It establishes that a character is desperate to
receive a letter, and then explains why another
character has not yet written that letter.

C) It presents a character’s concerns about
delivering a letter, and then details the contents
of that letter.

D) It reveals the inspiration behind a character’s
letter, and then emphasizes the excitement that
another character feels upon receiving that letter.
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The following text is from Edith Wharton’s 1905 novel
The House of Mirth. Lily Bart and a companion are
walking through a park.

Lily had no real intimacy with nature, but she
had a passion for the appropriate and could be
keenly sensitive to a scene which was the fitting
background of her own sensations. The
landscape outspread below her seemed an

enlargement of her present mood, and she

found something of herself in its calmness, its
breadth, its long free reaches. On the nearer

slopes the sugar-maples wavered like pyres of
light; lower down was a massing of grey
orchards, and here and there the lingering green
of an oak-grove.

Which choice best describes the funcﬁon of the

_underlined sentence in the text as a whole?
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A) It creates a detailed image of the physical setting
of the scene. '

B) It establishes that a character is experiencing an
‘internal conflict. :

C) It makes an assertion that the next sentence then
expands on.-

D) It illustrates an idea that is introduced in the
previous sentence.

horized copying or reuse of any part of this page is illegal.

Several studies have found negligible electoral
consequences for governments that impose fiscal
austerity measures, yet some European governments

recently suffered electorally due to their austerity
programs. Evelyne Huebscher and colleagues

attribute this incongruity to governments’ tendency—
not followed in the recent European cases—to
implement austerity programs strategically to avoid
electoral costs (e.g., setting spending cuts to take
effect only after the next election), which has
obscured the inherent political risks of austerity
measures in the election data scholars have examined.

Which choice best describes the function of the
underlined sentence in'the text as a whole?

A) Tt explains a discrepancy between what has been
" observed in study settings and what has been
observed in real-world settings that the text goes
on to assert is attributable to the studies not
using real-world data.

B) It identifies a conflict between research findings
and recent events that the text goes on to suggest
is a consequence of a complicating factor in the
data used to generate those findings.

C) It presents a long-standing divergence in
research findings that the text goes on to say is -
due to different groups of researchers using data
that derive from different electoral
circumstances.

D) It describes a recent exception to a general
pattern in research findings that the text goes on
to explain is a result of researchers
underestimating the significance of
inconsistencies in the data they've analyzed.



Eighteenth-century economist Adam Smith is famed
for his metaphor of the invisible hand, which he
putatively used to illustrate a robust model of how
individuals produce aggregate benefits by pursuing
their own economic interests. Note “putatively”: as
Gavin Kennedy has shown, Smith deploys this -
metaphor only once in his economic writings—to
make a narrow point about the then-dominant
economic theory of mercantilism—and it was largely
ignored until some twentieth-century economists
eager to secure an intellectual pedigree for their
views elevated it to a fully-fledged paradigm.

Which choice best states the main idea of the text?

A) Although Smith is famed for his metaphor of the
invisible hand, the metaphor was largely ignored
until economists in the twentieth century came
to realize that the metaphor was a robust model
that anticipated their own views.

B) Some twentieth-century economists gave Smith’s
metaphor of the invisible hand a significance it
does not have in Smith’s work, but it is
nevertheless a useful model of how individuals
produce aggregate benefits by pursuing their
own econdbmic interests.

C) Smith’s metaphor of the invisible hand has been
interpreted as a model of how individuals acting
in their own interest produce aggregate benefits,
but it was intended as a subtle critique of the
economic theory of mercantilism.

D) The reputation of Smith’s metaphor of the
invisible hand is not due to the importance of
the metaphor in Smith’s work but rather to the
promotion of the metaphor by some later
economists for their own ends.

Unauthorized copying or reuse of any part of this page is illegal.

“To You” is an 1856 poem by Walt Whitman. In the

poem, Whitman suggests that he deeply .

understands the reader, whom he addresses directly,

writing, .

Which quotation from “To You” most effectively

illustrates the claim?

A) “Your true soul and body appear before me.”

B) “Whoever you are, now I place my hand upon
you, that you be my poem.”

C) “I should have made my way straight to you

- longago”

D) “Whoever you are, I fear you are walking the

walks of dreams.”
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Average Number and Duration of Torpor Bouts and
Arousal Episodes for Alaska Marmots and
Arctic Ground Squirrels, 2008-2011

Alaska | Arctic ground
Feature marmots squirrels

| torpor bouts 12 10.5.
duration per bout | 13.81 days | 16.77 days

arousal episodes 11 9.5

duration per episode | 21.2 hours | 14.2 hours

When hibernating, Alaska marmots and Arctic ground
squirrels enter a state called torpor, which minimizes
the energy their bodies need to function. Often a
hibernating animal will temporarily come out of torpor
(called an arousal episode) and its metabolic rate will
rise, burning more of the precious energy the animal

- needs to survive the winter. Alaska marmots hibernate
in groups and therefore burn less energy keeping warm
during these episodes than they would if they were
alone. A researcher hypothesized that because Arctic
ground squirrels hibernate alone, they would likely
exhibit longer bouts of torpor and shorter arousal
episodes than Alaska marmots.

Which choice best describes data from the table that
support the researcher’s hypothesis?

A) The Alaska marmots’ arousal episodes lasted for
days, while the Arctic ground squirrels’ arousal
episodes lasted less than a day.

B) The Alaska marmots and the Arctic ground
squirrels both maintained torpor for several
consecutive days per bout, on average.

C) The Alaska marmots had shorter torpor bouts
and longer arousal episodes than the Arctic
ground squirrels did.

D) The Alaska marmots had more torpor bouts than
arousal episodes, but their arousal episodes were
much shorter than their torpor bouts.

Unauthorized copying or reuse of any part of this page is illegal.
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In the mountains of Brazil, Barbacenia tomentosa
and Barbacenia macrantha—two plants in the
Velloziaceae family—establish themselves on
soilless, nutrient-poor patches of quartzite rock.
Plant ecologists Anna Abrahdo and Patricia de
Britto Costa used microscepic analysis to determine
that the roots of B. tormentosa and B. macrantha,
which grow directly into the quartzite, have clusters
of fine hairs near the root tip; further analysis
indicated that these hairs secrete both malic and
citric acids. The researchers hypothesize that the
plants depend on dissolving underlying rock with
these acids, as the process not only creates channels
for continued growth but also releases phosphates
that provide the vital nutrient phosphorus.

Which ﬁndiﬂg, if true, would most directly support
the researchers” hypothesis?

A) Other species in the Velloziaceae family are’
found in terrains with more soil but have root
structures similar to those of B. tomentosa and
B. macrantha.

B) Though B. tomentosa and B. macrantha both
secrete citric and malic acids, each species
produces the acids in different proportions.

C) The roots of B. tomentosa and B. macrantha
carve new entry points into rocks even when
cracks in the surface are readily available.

D) B. tomentosa and B. macrantha thrive even when
transferred to the surfaces of rocks that do not
contain phosphates.



Employment by Sector in France and the United States, 1800-2012

(% of total employment)
Agriculture | Manufacturing | Services | Agriculture | Manufacturing | Services
Year | in France in France in France in US in US in US
| 1800 64 22 14 68 18 13
1900 43 29 28 41 28 31
1950 32 33 35 14 33 53
2012 3 21 76 2 18 80

- Rows in table may not add up to 100 due to rounding.

Over the past two hundred years, the percentage of the population employed in
the agricultural sector has declined in both France and the United States, while
employment in the service sector (which includes jobs in retail, consulting, real
estate, etc.) has risen. However, this transition happened at very different rates in
the two countries. This can be seen most clearly by comparing the employment
by sector in both countries in

Which choice most effectively uses data from the table to complete the statement?
A) 1900 with the employment by sector in 1950.
B) 1800 with the employment by sector in 2012.
C) 1900 with the employment by sector in 2012.
D) 1800 with the employment by sector in 1900.

Unauthorized copying or reuse of any part of this page is illegal.
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A team of biologists led by Jae-Hoon Jung, Antonio D.
Barbosa, and Stephanie Hutin investigated the
mechanism that allows Arabidopsis thaliana

(thale cress) plants to accelerate flowering at high

~ temperatures. They replaced the protein ELF3 in the
plants with a similar protein found in another species
(stiff brome) that, unlike A. thaliana, displays no -
acceleration in flowering with increased temperature.
A comparison of unmodified A. thaliana plants with
the altered plants showed no difference in flowering at
22° Celsius, but at 27° Celsius, the unmodified plants
exhibited accelerated flowering while the altered ones
did not, which suggests that

Which choice most logically completes the text?

A) temperature-sensitive accelerated flowering is
unique to A. thaliana.

B) A. thaliana increases ELF3 production as
temperatures rise.

C) ELF3 enables A. thaliana to respond to
increased temperatures.

D) temperatures of at least 22° Celsius are required
for A. thaliana to flower.

Unauthorized copying or reuse of any part of this page is illegal.
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The domestic sweet potato (Ipomoea batatas)
descends from a wild plant native to South America.
It also populates the Polynesian Islands, where
evidence confirms that Native Hawaiians and other
Indigenous peoples were cultivating the plant
centuries before seafaring first occurred over the
thousands of miles of ocean separating them from
South America. To explain how the sweet potato was
first introduced in Polynesia, botanist Pablo Mufioz-
Rodriguez and colleagues analyzed the DNA of
numerous varieties of the plant, concluding that
Polynesian varieties diverged from South American
ones over 100,000 years ago. Given that Polynesia
was peopled only in the last three thousand years,
the team concluded that

Which choice most logically completes the text?

A) the cultivation of the sweet potato in Polynesia
likely predates its cultivation in South America.

B) Polynesian peoples likely acquired the sweet
potato from South American peoples only
within the last three thousand years.

C) human activity likely played no role in the
introduction of the sweet potato in Polynesia.

D) Polynesian sweet potato varieties likely descend
from a single South American variety that was
domesticated, not wild.

In 1966, Emmett Ashford became the first African
American to umpire a Major League Baseball game.
His energetic gestures announcing when a player had
struck out and his habit of barreling after a hit ball to

see if it would land out of transform the
traditionally solemn umpire role into a dynamic one.

Which choice completes the text so that it conforms
to the conventions of Standard English?

A) bounds helped

B) bounds, helping
C) bounds that helped
D) bounds to help



Stomata, tiny pore structures in a leaf that absorb
gases needed for plant growth, open when guard
cells surrounding each pore swell with water. In a
pivotal 2007 article, plant cell showed
that lipid molecules called phosphatidylinositol
phosphates are responsible for 51gna11ng guard cells
to.open stomata.

Which choice compIetes the text so that it conforms
to the conventions of Standard English?

A) biologist, Yuree Lee
B) biologist Yuree Lee,
C) biologist Yuree Lee

D) biologist, Yuree Lee,

During the English neoclassical period (1660-1789),
many writers imitated the epic poetry and satires

of ancient Greece and Rome. They were not the
first in England to adopt the literary modes of
classical some of the most prominent
figures of the earlier Renaissance period were also
influenced by ancient Greek and Roman literature.

Which choice completes the text so that it conforms
to the conventions of Standard English?

A) antiquity, however
B) antiquity, however,
C) antiquity, however;
D) antiquity; however, -

In the late nineteenth and early twentieth centuries,
automobiles were commonly referred to as horseless
carriages after the older technology they still
resembled. Known as the Brass Era, this period in
automotive design is remembered for its grandeur
and artistry, its vehicles by collectors for
their ornate detailing and gleaming brass fittings.

Which choice completes the text so that it conforms
. to the conventions of Standard English?

A) are highly prized

B) had been highly prized
C) highly prized

D) were highly prized

Unauthorized copying or reuse of any part of this page is illegal.

With the development of new technologies that use
natural resources more efficiently, the overall
consumption of those resources might be expected
to decrease. Economists have observed that
improvements in efficiency often correlate negatively

with resource _efficiency gains, lowering
the cost of use, may increase demand to the extent
that resource consumption ultimately rises.

Which choice completes the text so that it conforms
to the conventions of Standard English?

A) conservation, though,
B) conservation; though
C) conservation, though;
D) conservation, though
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The ghazal, a poetic form-originating in
seventh-century Arabic poetry, has an intricate
structure. The twentieth-century Kashmiri American
poet Agha Shahid Ali explains that each one of a
ghazal’s couplets, while adhering to the patterns of

* rhyme (qafia) and refrain (radif) established in the
poem’s opening lines (matla), __ thematically
and logically autonomous, resulting in a poem with
“a stringently formal disunity”

Which choice completes the text so that it conforms
- to the conventions of Standard English?

A) is

B) were

C) have been
D) are - )

In November 1934, Amrita Sher-Gil was living in what
must have seemed like the ideal city for a young artist:

" Paris. She was studying firsthand the color-saturated
style of France’s modernist masters and beginning
to make a name for herself as a painter.

* Sher-Gil longed to return to her childhood home
of India; only there, she believed, could her art
truly flourish.

Which choice completes the text with the most
logical transition?

A) Still,
B) Therefore,
C) Indeed,

D) Furthermore,

Unauthorized copying or reuse of any part of this page is illegal.
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Researchers Helena Mihaljevi¢-Brandt, Lucia
Santamaria, and Marco Tullney report that while
mathematicians may have traditionally worked
alone, evidence points to a shift in the opposite
direction. mathematicians are choosing
to collaborate with their peers—a trend illustrated
by a rise in the number of mathematics publications
credited to multiple authors.

Which choice completes the text with the most
logical transition?

A) Similarly,

B) For this reason,
C) Furthermore;
D) Increasingly,

The prime meridian, the global indicator of

zero degrees longitude established in 1884,

was originally determined using astronomically
derived coordinates. as decades passed,
new calculations would reveal increasingly precise
coordinates, yet the prime meridian remained
unchanged; it wasn't until the 1980s that, spurred by
improved geodetic data, the prime meridian was
officially moved—roughly one hundred meters east.

Which choice completes the text with the most
logical transition?

A) Specifically,

B) To that end,

C) Again and again,
D) Granted,



While researching a topic, a student has taken the
following notes: ’

o Puntius javanicus is a species of commercially
raised fish.

« Researchers in Indonesia recently found that adding
pineapple extract to fish food increased both the
feed utilization efficiency and the growth rate of
P. javanicus.

o Adding the pineapple extract did not affect total
food consumption.

« The researchers thus determined that the
increased growth rate resulted from the increased
feed utilization efficiency.

« The enzyme bromelain in pineapple extract
enhances the hydrolysis of ingested proteins.

« This allows the fish to more readily absorb them.

The student wants to explain how pineapple extract
incredsed the growth rate of P. javanicus. Which
choice most effectively uses relevant information
from the notes to accomplish this goal?

A) Researchers in Indonesia recently found that
adding pineapple extract to fish food increased
the growth rate of P. javanicus.

B) An enzyme in pineapple extract, bromelain
increased the growth rate of P. javanicus by
enhancing the hydrolysis of ingested proteins, in
turn affecting the fish’s total food consumption.

C) According to the researchers, the growth rate of
P, javanicus was affected not by food
consumption but by feed utilization efficiency.

D) The enzyme bromelain enhanced P. javanicus’s
absorption of ingested proteins, increasing the
growth rate of fish fed pineapple extract.

Unauthorized copying or reuse of any part of this page is illegal.

While researching a topic, a student has taken the
following notes:

« NASA uses rovers, large remote vehicles w1th
wheels, to explore the surface of Mars.

« NASA’ rovers can't explore regions inaccessible to
wheeled vehicles.

« Rovers are also heavy, making them difficult to
land on the planet’s surface.

« Microprobes, robotic probes that weigh as little as
50 milligrams, could be deployed virtually
anywhere on the surface of Mars.

+ Microprobes have been proposed as an alternative
to rovers.

The student wants to explain an advantage of

microprobes. Which choice most effectively uses

relevant information from the notes to accomplish

this goal?

A) Despite being heavy, NASA’s rovers can land
successfully on the surface of Mars.

B) Microprobes, which weigh as little as
50 milligrams, could explore areas of Mars that
are inaccessible to NASA’s heavy, wheeled rovers.
C) NASA currently uses its rovers on Mars,
but microprobes have been proposed as
an alternative.

D) Though they are different sizes, both
microprobes and rovers can be used to explore
the surface of Mars.
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While researching a topic, a student has taken the
following notes:

+ When medical students mention their patients on
social media, they may violate patient confidentiality.

"o Terry Kind led a study to determine how many
medical schools have student pohcnes that mention
social media use.

« Kind and her team reviewed 132 medical
school websites, examining publicly available
student.policies.

o Only thirteen medical schools had guidelines
that explicitly mention social media, and only
five defined what constitutes acceptable social
media use. _

The student wants to emphasize the study’s
methodology. Which choice most effectively uses
relevant information from the notes to accomplish
this goal?

A) The student policies of 132 medlcal schools
can be found online, according to research by
Terry Kind.

B) To find out how many medical schools have .
guidelines about student social media use,
Terry Kind and her team examined the student
policies of 132 medical schools.

C) Out of 132 medical schools, only thirteen had
student policies that mentioned social media,
and only five specified what use was acceptable.

* D) Terry Kind and her team wanted to know
how many medical schools have student
social media policies in place about protecting
patient confidentiality.

STOP

While researching a topic, a student has taken the
following notes:

« British musicians John Lennon and Paul McCartney
shared writing credit for numerous Beatles songs.

+ Many Lennon-McCartney songs were actually
written by either Lennon or McCartney, not by both.

o The exact authorship of specific parts of many
Beatles songs, such as the verse for “In My Life,”
is disputed.

 Mark Glickman, Jason Brown, and Ryan Song

used statistical methods to analyze the-musical
content of Beatles songs.

o They concluded that there is 18.9% probability
that McCartney wrote the verse for “In My Life,”
stating that the verse is “consistent with Lennon’s
songwriting style”

~ The student wants to make a generalization ; about the

kind of study conducted by Glickman, Brown, and
Song. Which choice most effectively uses relevant
information from the notes to accomplish this goal?

A) Based on statistical analysis, Glickman, Brown,
and Song claim that John Lennon wrote the verse
of “In My Life”

B) There is only an 18.9% probability that Paul
McCartney wrote the verse for “In My Life”;
John Lennon is the more likely author.

C) Itislikely that John Lennon, not Paul McCartney,
wrote the verse for “In My Life”
D) Researchers have used statistical methods to

address questions of authorship within the field
of music.

If you finish before time is called, you may check your work on this module only.
Do not turn to any other module in the test.
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